H & 0 & AF S & A A
A= SYXIXIFAS 2N 0 SEXXIN
M. SHERX J|IEHES
o9l SHXX M (ool @e)
AR .2 HH . OR(3) - HBAY - B O Aot e HimEST
S8XRIFAH 20,026,580 13,029,216 6,997,364
s 500,000
CH 1,300,000
T 255,000
Al 17,971,580
EY XX 267,854 32,940 234,914
T 5,000
Al 262,854
S8IX Jletsts 237,184 32,940 204,244
& 5,000
Al 232,184
SEIX HMSEIHA 114,640 32,940 81,700
& 5,000
Al 109,640
SEYIX 24 19,000 22,200 A3,200
201 Let23H| 5,000 5,000 0
01 AtR2teldl 5,000 5,000 0
OS8XX 228 7
2,000,000 14 2,000
OLYRFE Xz 2N 3,000,000 14 3,000
202 0441 5,000 7,000 22,000
01 =ZLHOdHI 5,000 7,000 A2,000
OSEXX 22 bl
20,0002 x5H *503] 5,000
203 YR =ZIH| 9,000 10,200 A1,200
03 AMBFRHR=XIH| 9,000 10,200 A1,200
OSYXR ERFE(HE)
6,000,000& 14! 6,000
OSEXX R=& 3,000,000& * 14 3,000
=20 84 44,000 44,000
201 Let2AH| 44,000 44,000
01 At22teldl 26,000 26,000
ST 22 o= ME
20,000,000& 14! 20,000
OSEXXE g8 &8 HZ
100,000& *300H 3,000
OSEXNXE EBEE MH
3,000,000& * 14 3,000
03 A2 18,000 0 18,000
OSEXNXNE FA 23 4935 5 M=
18,000,000 * 14 18,000
ZJRASENXE =2 L3t 10,000 0 10,000
= 5,000
Al 5,000




AR SEXENG SN SEXRD
Hy: SHXx s
ool SEXX M CERL)
AR -2 - T S(3) - MRAY - BYS 0l bt e CImE==}
201 Yer2Y| 10,000 0 0,000
= 5,000
Al 5,000
03 AR G| 10,000 0 10,000
OYASBRIT 20l ZZ Izl X2
5,000, 00024141 5,000
= 2,500
Al 2,500
OYASBRIE 4BBY B0y 27
CHzl 5,000, 00024 +14] 5,000
= 2,500
Al 2,500
UES SR 25,500 0 25,500
201 Yur2 | 3,500 3,500
01 Al 22l 3,500 3,500
OfIRs U N2+
70,00021% 102453 3,500
207 S 22,000 22,000
EEEET 22,000 22,000
OSstAY S2 228 98t HREY
22,000, 00021 #14] 22,000
e EEE 10,740 10,740 0
201 Yur2 | 5,740 5,740
01 Al 22l 5,740 5,740
OIBs B4(MANLEY
70,0002 +8% 43| 2,240
ORNEA =7 29|
1,500, 0002/%14] 1,500
ORMSA %A2As NADS
2,000,00021%14! 2,000
308 T2 5,000 5,000
01 Z&3 5,000 5,000
ORNBA 2424 o B2 Ty
5,000, 00021 4] 5,000
EEPBIEE 5,400 0 5,400
202 it 5,400 5,400
NETEE 5,400 5,400
OgY? = oY)
20, 000214624 #453] 5,400
DA H 102,544 0 102,544
DM 2Y 102,544 0 102,544
201 Yur2gy| 37,200 0 37,200
01 Al 22l 37,200 0 37,200
OIR3 BELY
100, 00024492 27} +43] 7,200




AR SHIRIFXC SN SERXID
HE: SEIR J|PraSs
Rl DEAEIISA EER=E)
A . 2A - HH . A(SH) - MIBAY - HES Ofl AtoH oa:lg% Hnsz
OE=H| 30,000,000 x 1Al 30,000
301 YptE X2 77,000 77,000
14 J|EtE A2 77,000 77,000
odE 2 77,000,000 % 14! 77,000
308 RHXISHHISOIA 8,344 8,344
11 2I2S0HEHE A XA 8,344 8,344
OZSHEAAY 29 2 X 22
8,344, 00094 <14 8,344
HYR2AHHI (SEXXI ) 30,670 0 30,670
o=l 30,670 0 30,670
o122 30,670 0 30,670
201 LBH2AY| 15,720 0 15,720
01 AlR22IH 15,720 0 15,720
OBt 9,384
o HHAIRZEH| 30,0002 * 122 3,600
OARIINABE 30,0002 * 122 3,600
chl2R=ER 15,0002 «2&+ 122 360
oJ|Et=&H| 1,824,000 % 14! 1,824
O3l 6,33%
o)|=2ADR4H JAlH|
8,000+ 11262+ 122 6,3%
202 O4H| 4,950 4,950
01 2UH0iH| 4,950 4,950
OJl=248 oyl
90,0009 11 *53] 4,950
203 YR =X 10,000 10,000
01 JlB2g x| 7,000 7,000
OJ|H2gYREx 7,000,000 %14l 7,000
M EA2EAREZIY| 3,000 0 3,000
ORNSIAREX 250,0002! * 122 3,000




H = 0 & AFS S Al A
AR SERIENG SN HURRD
A XHo AYLN A5}
SRl XS D8 OHEALE EEREE)
AR .2 HH . O(3) - MIBARY - BAES ofl kot e HRE2
2= TN -8R . 85 = ofl kot S
s ===l 10,527,276 240,996 10,286,280
XNEo| ZYUN A2 10,489,200 203,000 10,286,200
NS 28 LA 10,489,200 203,000 10,286,200
SIOIEE FAAY 293 63,000 106,000 243,000
201 LEr2AH| 50,000 90,000 240,000
01 AtR2t2lbl 50,000 90,000 240,000
OSg HEXS 4+42
40,000,000 * 14! 40,000
OgtEs =R2H 2228 2 2 HE
10,000,000& * 14! 10,000
202 04| 11,000 14,000 A3,000
01 201l 11,000 14,000 3,000
OSEMLAY =7
20,000& *4H x100&] 8,000
OSDIZEAIY Z7
20,0003 x3H *503] 3,000
203 YR =&XiH| 2,000 2,000
03 AIZHF=RIHREEIH| 2,000 2,000
OgorEs gRFA 2,000,000 * 1A 2,000
A8 SIBEHESX =4 10,016,000 10,000 10,006,000
201 LEtEHH| 10,000 10,000 0
01 AtR2t2lb| 10,000 10,000 0
OB HECHA 2hets|] &0
10,000,000& *1A 10,000
202 044| 6,000 6,000
01 2L Y| 6,000 6,000
O3 BHEHX I |2 S22 O
20,000& *3Hx1002] 6,000
401 AIEHILE0HY] 10,000,000 10,000,000
01 Al&H| 10,000,000 10,000,000
OBIBAHEEX &4
10,000,000, 000& 14! 10,000,000
HCOIRA offA AIY & X122 105,200 83,000 22,200
201 LEt2AH| 1,200 0 1,200
02 85240l 1,200 0 1,200
OESHE HHZ2Ad B82S
100,000 x 12& 1,200
202 04b| 3,000 3,000
01 ZLH Y| 3,000 3,000
OHTR Y Al &
20,000& x3H *x503] 3,000
401 AIEHI X204 90,000 80,000 10,000
01 Al&H| 90,000 80,000 10,000




A . ol (3] et - B s e HimE=T
OEESA E Ha AbY =&
60,000,000 14! 60,000
OERALS
30,000,000 14| 30,000
403 XtXISHMSK 11,000 11,000
02 BII2S0IH A4l 11,000 11,000
OSHALS A} l)
11,000,000 & * 14! 11,000
S FEA 3 5,000 4,000 1,000
201 L2 | 2,000 2,000 0
01 Ar2eltl 2,000 2,000 0
OSATAYR 2
2,000,000 14 2,000
202 04t 3,000 2,000 1,000
01 =04 bl 3,000 2,000 1,000
OSaRE &
20,0003 *3H+502] 3,000
SAg &eI=A 200,000 0 200,000
401 AlEHIZL S 200,000 200,000
01 Al&HI 200,000 200,000
O=23g gtlA= # =
200,000,000 14 200,000
gf AXXEIR 100,000 0 100,000
401 AIEHIZ 2O 100,000 100,000
01 A&l 100,000 100,000
OEg AZXEIR SETA B
100,000,000 * 14! 100,000
2 FAHI(ER=E21) 38,076 37,9% 80
2l 38,076 37,9% 80
=kl 38,076 37,9% 80
201 ZEH2 & 23,076 22,99% 80
01 At 22|l 23,076 22,9% 80
OgEt=ZH| 14,276
SHPAIREEY| 3,500,000 14! 3,500
SAIRII| ARE 7Y
6,000,000 14! 6,000
SHEFR=EZ 1,296,000 14! 1,296
oA #=4&H| 2,400,000 14 2,400
oHRE AT 360,000 * 14l 360
o&D| &el =52 720,000& x 14! 720
O=gtl 6,800
oJ|l=2gdR =8 g4l
8,000& x 1750 6,800
OJ|Et=EH| 2,000,000 14! 2,000




EPNONESFSIS,
F2IZHI(&
=gl

2A

000
o
m
b1

CEA B ORI (S]) - HRAY - BAS e

202 0idl 12,000 12,000

01 =WO4bI 12,000 12,000
O=LHoYI 12,000

=J|l=2d

100,000& 10 123 12,000

203 AR F=&lh| 3,000 3,000

M EN2HHRFAY| 3,000 3,000
OFRN2ILEFE 3,000,000 14 3,000




Al A

= o
A= EYXXIZ=RS EA TS
M XM REMAH 2=
&t Nsd WsSHA 2= EERED
AR .2 HH . O(3) - MIBARY - BAES ofl kot e HRE2
2= TN -8R . 85 = ofl kot S
| TS=& 1t 9,231,450 12,755,280 N3,523,830
rag 500,000
CH 1,300,000
& 250,000
Al 7,181,450
XHAICH REMAH 2= 9,190,800 12,198,900 A3,008,100
g 500,000
CH 1,300,000
& 250,000
Al 7,140,800
Ns8 WEMAH 25 7,097,300 11,198,900 24,101,600
CH 1,300,000
Al 5,797,300
ITS 3| M= 393,300 393,300
201 LEtEAH| 315,100 315,100
01 AtR2t2lb| 65,100 65,100
OITS NIAHIEE &2 4 HE
20,000,000 x 14! 20,000
OITS MIAHIS3 28 2= H&
15,000,000& * 14! 15,000
OITS MIHIEs 2225 M&
10,000,000 & = 1A 10,000
OITS NIAHIEE £ Z2XHUE S=H|
1,500, 000& *6H *x23| 18,000
OR&s & X2k ZA(AAN) =
70,0003 * 10 *33] 2,100
03 A2 S| 250,000 0 250,000
OITS MIAHIES 28 &8AIZ 29
150,000,000 * 14! 150,000
OITS HNIAHIEE &5 AL
50,000,000 & = 1A 50,000
OITS st=8iAt 25,000,000& *23| 50,000
202 04b| 76,200 76,200
01 Z2LH Y| 4,200 4,200
OITS MIAHIESS 92 oYl
20,000& x3H x703] 4,200
03 =22 20| 72,000 0 72,000
OITS HIAHIES W=l =& 72,000
o|TS MAHIES &
3,000,000& %12 x13| 36,000
o|TS = MU &4
3,000,000& x6H 23| 36,000
203 2R =&IH| 2,000 2,000
03 AIZHF=EHR2=KRIH| 2,000 2,000
OAIHAER =& 2,000,000« 14! 2,000




¢ SEXRIFAH
DOXAICH WS HA

2M |

™
|~

ITS=

S 7=
&t Nsd WsSHA 2= EERED
AR .2 HH . O(3) - MIBARY - BAES ofl kot e HRE2
2= TN -8R . 85 = ofl kot S
OluSSEdEH HE 6,704,000 0 6,704,000
CH 1,300,000
Al 5,404,000
401 AlEHILE0HY] 6,704,000 0 6,704,000
CH 1,300,000
Al 5,404,000
01 Al&H| 6,594,000 0 6,594,000
O0ldnS=sedE HE AL
6,594,000,000& * 1Al 6,594,000
CH 1,300,000
Al 5,294,000
02 2teldl 90,000 0 90,000
O0lHnNS=SsHE HE A
90,000,000 & * 1A 90,000
03 Al E20HYI 20,000 0 20,000
O0lnS=sedE HE AL
20,000,000 x 14! 20,000
22 ST X2 23 1,000,000 1,000,000 0
g 500,000
& 250,000
Al 250,000
22 STy 11 S (AZHE A 1,000,000 1,000,000 0
g 500,000
& 250,000
Al 250,000
201 LErEAH| 1,000,000 1,000,000 0
s 500,000
& 250,000
Al 250,000
01 AFR22telHl 1,000,000 1,000,000 0
OXEF#IIEF Xt
1,000,000, 0003 * 14 1,000,000
rag 500,000
== 250,000
Al 250,000
Nss WEMAH &9 1,093,500 0 1,093,500
ANss nEMH 2 22l 1,093,500 0 1,093,500
201 LBr2AH| 987,500 0 987,500
01 AtR2t2|H| 2,800 0 2,800
OJlsgitey 243 ¢
70,0003 * 10 *43| 2,800
02 85240l 984,700 0 984,700
O=222 284,700




¢ SEXRIFAH
DXNICH BEMA RS

2M 0 ITSFEA

I
™
=y

t

Ciol: TSE DEMH 2o (chs]: ma)
4224 B S9I(3) - IRAR - BAS of et s HDE
CAISNY HEABE
60,0002 122 7,200
S2ATHY SUNSE FHE
80,0002+ 122 9,600
CDEFDHE TEAOIE 3188
3,000,002 122 3,000
SITSAEE Fl2
50,0001 +2747 Ax 122 164,400
N N EER N
75,0002+ 130} 4 » 122 1,700
CDEASHO 2HY S
10, 00023000 4 » 122 3,000
CUSMBAAY B8
75,0002 +227H A 122 19,800
ONISE DEANH 2 L xR
700,000,002 %141 700,000
202 01t 6,000 5,000
T 5,000 5,000
ONSE DEAH 2 22 ol
20,0002 52 %603 6,000
201 AEHI2=01) 100,000 100,000
01 AlZ2E] 100,000 100,000
OARD TS TZAIR)
100,000, 00024 +14] 100,000
HM2IA0I(ITSEA T 10,650 56,380 ~15,730
J1= 2| 40,650 56,380 A 15,730
S1=2l 40,650 56,380 A 15,730
201 Qer=gy| 26,400 29,280 72,880
01 Ab22IH] 26,400 29,280 72,880
Ogurag| 17,760
CHHALEE 72 20,0002+ 122 2,400
SNSRI £0E 79l
1,000,0002%122) 12,000
cuersz 18,0002 105+ 122 2,160
CATD 2l 00,0002 122 1,200
Ozl 8,640
oIl=Rss FA
8, 00021152 +12 2163 8,640
202 01t 11,250 18,000 76,750
NETRT 11,250 18,000 76,750
OJl=eess ol
50,0002 +152 1531 11,250
208 22 E7Y| 3,000 9,100 A6, 100
VEREEEEESI 3,000 3,600 600
ORhegREHY| 250,002+ 122 3,000






